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Example 1

Use the Pythagorean Theorem to find each missing measure,

1. 2. ~1 3. 26m
12 m| 17 ft n -_d_____.-ﬂ"
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Find the distances between the points to th rest te
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Example 3

Tell whether the given side lengths form a right triangle.
7. 3,4,5 8. 8,10, 14 9. 051213
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Square Roots and the Pythagorean Theorem

The Pythagorean Theorem and the Distance Formula

1. a“*+b*=c¢*®
12% + 16% = ¢°
144 + 256 = ¢*°

400 = ¢°
V400 = Ve?
20=c

The length of the hypotenuse is 20 m.

2. a*+bp*=c"

15% + b% =177
225 + b% = 289
—225 —225
b= 64
Vb® =B
b=8

The length of the leg, b, is 8 ft.
3. a +b=c"

a® +10% = 26°
a*+100= &78
—100 —100
a = 576
Va® =578
a=24

The length of the leg, &, is 24

4. AB® = 8° + 8° BC? = 2% + 4°
AB2 =100 @fb BC® = 25
AB = 100 = 10 \Q) BC = V25 =
t:‘-.;eu::z=52+22 (QQ 7.32 142 _52
AC™ =29 ) 9+16 =25
AC =20 =54
25=25
The lengths 3, 4, and 5 form a right
triangle.

8.82 +10% =142
64 +100 =196
164 =196

The lengths 8, 9, and 14 do not
form a right triangle.

9. 052 +1.2%2 =1.32
0.25+1.44 =1.69

1.69=1.69

The lengths 0.5, 1.2, and 1.3 form a
right triangle.
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